RD SHARMA
Solutions
Class 8 Maths
Chapter 7

Ex 7.8



Solve: Q1. p?+6p+8

Soln:

pP+6p+8

=p2+6p+ (g)z_(g)z +8 [Adding and subtracting (g)z, that is 37]
=p>+6p+32-32+8

=p*+2xpx3+32-9+8

=p’+2xpx3+3>-1

=(p+3)7%-1? [Completing the square]
=[(p+3)-1(p+3)+1]

=(p+3-1)(p+3+1)

=(pt2)(pt4

Q2. ¢ 10q + 21
Soln:

q?—10q+21
2 2 2
=q’~10q+ (%) —(&) +21 [Adding and subtracting (&) , that is 5°]

=q?-2xqx5+52-52+21

=(q-572-4 [Completing the square]
=[@-5-21[(q-5+2]

=(@-5-2)(q=-5+2)

=@-7@q-3)

Q3.4y2+ 12y +5

Soln:

4y?+ 12y +5

4(y2+3y+ %) [Making the co — efficient of y?] =4(y+ %— D(y+ %— 1)
2 2 2 _ 3 3

4[y>+3y+(3) =(3) +3]1 [Adding and subtracting () ] =4(y+3)0+3)

2 =Q2y+ 12y +5)
=4ly+3) -7 +3]

2
=4[y + %) —1] [Completing the square]

=4I+ 3= DI+ 3+ 1]

Q4.p*+6p-16
Soln:

p+6p—16

p>+6p+ (g)z—(g)z— 16 [Adding and subtracting (%)2, that is 3?]
=p?+6p+32-9-16
=(p+3)*-25 [Completing the square]
=(p+37-5
=[(p+3)=5]l(p+3)+5]
=(p+t3-5)(p+3+5)
=(p-2)p+8)



Q5. x2+ 12x + 20
Soln:

X2+ 12x+20
=x2+12x + (12—2)2—(%)2 +20  [Adding and subtracting (%)2, that is 67]

=x2+12x + 6= 62 +20

=(x+6)2-16 [completing the square]
=(x+6)?—42

=[(x+6)—4][(x+6)+4]

=(x+6-4)(x+6+4)

=(x+2)(x+10)

Q6. 2> - 14a - 51
Soln:

a?—14a-51
147 14 14,7 2
=a’—14a+ () —(5) -51 [Adding and subtracting (=) , that is 77]

=a’—14a+7" -7*-51

=(a— 7)2 —100 [Completing the square]
=(a-77%-10

=[(a=7)—10][(a=7) + 10]
=(a—7-10)(a=7+10)

=(a—17)(a+3)

Q7.a>+2a-3
Soln:

a’+2a-3
=a’+2a+ (%)2—@)2—3 [Adding and subtracting (%)2, that is 12]

=a’+2a+1-1-3

=(a+172-4 [Completing the square]
=(a+1)y-2?

=[a+DH-2][@a+1)+2]

=(@+1-2)(a+1+2)

=(a-1)@+3)

Q8. 4x2-12x+5
Soln:

42— 12x+5

4(x*-3x + %) [Making the co-efficient of x* = 1]



3.2 3 s 3,2
4[x*-3x+(5) —=(3) +3] [Adding and subtracting(3) |
2
=4[(x- %) —% + %] [Completing the square]
5.2
=4[0-3) 1]

=4[(x-3)-1[(x-3)+1]
=4(x=3-D)(x=3+1)

=4(-3) (- 3)
=(2x=5)(2x-1)

Q9. (y-3)(y-4)

Soln:

=y2T7y+12

(Adding and subtracting (%)2)
- 7\2 (T2

= Y2'7y+(3) - (7) +12
Completing the square
=0T B
=6-(3)(7)
=324
=[0-(3- P [6-(5+3)
= [5-(3- DU e-(F+5)

= (y-4)(y-3)

Q10. (z-6)(z+2)
Soln:

=7%-47-12

(Adding and subtracting (%)2)
= 24zH(3)- (3)%12
=7247+(2)%(2)%-12
=(z-2?%-16

Completing the squares

= (224
=[(z-2)-4][(z-2)+4]

= (2-6)(z+2)



